r=1-— cos(f)

Curves in Polar Coordinates

r =1+ cos(f) r =1+ sin(f)
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Fall 2024
1. Find the integral /f yoosy dA, where R= {(z,y)|1 <z <e'0<y < n/2}
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dA where D is the region in the first quadrant bounded by x =y, . =4, y = 0.
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3. Evaluate f /R y” sin ?dﬂ where R is the region bounded by 2 =0, y = /7, y = =.
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4. Evaluate
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6. Gr: lph thL region and change the order of integr: ltuml 2-y
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7. Let the regio

integral f f
D
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flx,y)dA as a sum of iterated integrals (with the least number of terms).
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8. Sketch the region bounded by y° = 22 (or = %), the line x +y = 4 and the z-axis, in the first quadrant.
Find the area of the region using a double integral.
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0. Describe the solid which volume is given by the integral
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10. Find the volume of the solid bounded by ani
-0y ~ .
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11. Sketch the curve 72 = {:ursg% Find the area inside the curve.
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12. Use a double integral in polar coordinates to evaluate the area of the region inside the circle r = 4sinf
and outside the circle r = 2.
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13. Use polar coordinates to evaluate
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14. Find the volume of the solid bounded by the surfaces
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